NCFA 2012 POWER RANKINGS

NCFA 2012 POWER

FINAL REGULAR SEASON POWER POINT CALCULATIONS

RANKINGS Conference Opponents
Rank College Standings finish pts. Nor Div Cen .Div South Div Win pts. WL% SOS pt. TOTAL POWER PTS.
San Francisco T-1 28 6 3 0 120 59% 29 177
Butte T-1 28 6 2 1 115 55% 24.5 167.5
American River T-1 29 5 2 1 106 55% 24.5 159.5
De Anza T-1 28 6 0 2 106 51% 19 153
4| Fresno T-1 29 5 3 0 105 49% 14.5 148.5
6/ San Joaquin Delta T-3 25 4 3 0 90 55% 24.5 139.5
San Mateo 4 24 3 3 0 75 59% 29 128
8| Sierra T-3 25 4 1 0 70 59% 29 124
9| Siskiyous 1 20 1 5 3 86 46% 11.5 117.5
10| Diablo Valley 2 18 0 5 1 64 51% 19 101
11| Chabot T-1 19 0 5 1 64 49% 14.5 97.5
12| Sacramento 3 16 1 3 1 59 52% 21 96
13| Modesto 5 22 1 2 1 40 61% 315 93.5
14| Laney T-1 19 0 4 48 53% 22 89
Santa Rosa 5 22 1 1 1 30 66% 33 85
Sequoias 6 20 1 2 1 40 55% 24.5 84.5
Contra Costa 1 10 1 0 6 58 46% 11.5 79.5
18| Feather River 4 14 1 0 2 34 57% 27 75
19| Reedley 3 16 0 2 1 37 51% 19 72
! Foothill 6 20 0 0 3 15 61% 315 66.5
21| Monterey Peninsula T-1 8 0 0 5 41 42% 6 55
22| Merced 4 14 0 2 1 31 43% 9 54
- Los Medanos T2 6 0 0 6 35 43% 9 50
24| Hartnell T-1 8 0 0 6 38 41% 3.5 49.5
25| West Hills 5 12 0 0 2 19 50% 16.5 47.5
26| Cabrillo T-1 8 0 0 5 33 42% 6 47
Mendocino T2 6 0 0 4 28 48% 13 47
Shasta 5 2 0 0 3 26 50% 16.5 44.5
Yuba T-2 6 0 0 5 33 34% 1 40
Redwoods 6 1 0 0 3 18 43% 9 28
31| Gavilan 4 4 0 0 3 18 39% 2 24
32|San Jose 5 2 0 0 1 16 42% 6 24
33| West Valley 6 1 0 0 18 41% 3.5 22.5
Conference Finish pts. Win pts. Strength of Schedule

Northern Division Central Division

South Division

15pts for win vs. North Div. team

SOS pts. 33-1

1st=30 1st=20 1st=10 10pts for win vs. Central Div. Team Toughest schedule = 33 pts.
2nd=28 2nd=18 2nd=8 5 pts. for win vs. South Div. Team To weakest schedule =1 pt.
3rd=26 3rd=16 3rd=6 3 pts. for Central Div vs. North Div. Calculated by finding each team's
Ath=24 4th=14 Ath=4 3 pts. for So. Div. vs. Central Div. opponent's win percentage.
5th=22 5th=12 5th=2 5 pts. for So. Div. vs. North Div.
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